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A. Find the conrect amswer (a , h , c or d) and man&< it on youn &xlswer sheet'

1. In that decade; the rate of growth was approximately 2 percent per year. Approximately' means

a. really b. exactly c. nearly d' basically

2. A major reduction in the growth rate of China and a significant decline in India reduced the

global rate. "Global" means

a. domestic b. private c. public d. worldwide

3.The attempts to stabilize prices have not been successful. "Stabilize" means .. . '..

a. fix b. change c' decrease d' increase

4. The form of population growth in which the rate of growth is related to the number of

individuals .. . .  '  is cal led exponential growth'

a" absent b. present c. died d' married

5. Each year thousands of chi ldren in Africa die because of . . . . . . . . . .They do not have enough

food to eat.

a. explosion b. starvatioll c. conversation d. consideration

6. The natural growth of a population is recorded as the difference between the number of births

and the number of  . . . . ' . .  " . . .  dur ing a speci f ied per iod '

a. deaths b. births c. employments d' unemployment

7. In algebra. the sign x usually denotes an unknown quantity. n'Denotes" means

a. stops b. looks at c. refers to d' looks up

8. The yearly average number of births pel ' . . ' . . . .  '  is cal led crude birthrate'

a. ten b. hundred c. thousand d' million

9. The study and description of population including size, distribution, structure, movement, etc.

is cal led

a. biology b. sociology c. psychology d' demography

10. Today life expectancy in many European countries exceeds 70 years. "Exceeds"

means.

a. is more than b. is less than c. is the sameas d. disappears
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I Lh4ost of the underdeveloped crowded cities do not have . .. conditions, and therefore

many people die of epidemics.

a. sanitary b. bad c. sad d. unhappy

12. T'aking a complete census is a complicated proposition. "Froposition" means

a. irrigation b. imagination c. accident d. taslc

13. A person who leaves his native country to settle in another place is called a(n) ..

a. psychologist b. emigrant c. sociologist d. artist

14. We tend to think of agricultural geography in terms of cash cropping. i.e. farming for sale and

a. waste b. loss c. profit d. decline

15. {n .. . . .  there is no cold season and the weather does not usually go belor,r '  60'c. These

areas are outside the tropics and merging into the warm temperature zone.

a. tropical regions b. subtropical regions

c. cold regions the north pole

16. Another factor in the location of industry is the availability of an engry supply. "Location"

means

a. role b. development c. condition d. place

17. China possessed a substantioal industrial base long before the Industrial Revolution.
"Possessed" means

a. had b. gave c. presented d. distribu,ted

18. A map consists of different discrete spots that indicate the location of various towns and

cities. " Discrete" means

a. gathered b. separate c. united d. uniformed

19. Charles Dickens's novels mirror the tenible conditions. " Mirror" means

a. reflect b, disappear c. stops d. forget

20. Villages displav an enormous variety of sizes and spatial forms. "Enormous" means

a. t iny b. declined c. very small d. very large
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2I .Ametropol is isanurbancenterof largedimensions. . .Ufban, ,meanS

a ;k+ b. crrJJs c. 6J4_: d. ."r:.,.r,

22. A factory is considered a non- residential place. " Non- residential" means

&' 6rl;l b. ;"S* c. 6.111l ,.,c. d. ;rS* r9

23. The Alborz mountains and Zagross mountains are in the North and East of Iran respectivelv.
" Respectively" means

a. +; J+ b. i$r* Ji. c. i.rl , r rst q d. :,..,r. !

24. Human qeography studies man in terms of population its distribution, density, sex and age

structure. " Human geography" means

a. ;L;l cs!rl,r"+ b. ,r+*f cSGlA c. ,91+:1, cs$l_,"_ d .r.:l-, .r*1.,,r,.,1_,,

25. Optimism about the future population should be tompered for other reasons. "Optirnism',

means

a. ,_r*+ b. "_-.-r- c. *-A)l-l.r, d. ;fUt ;ar=

26. A recent report by the World Bank suggests that world population will continue its rapid

growth for some time . " Growth" means

a. S_,,r, b. .r,  c.+F d. , .rJ.r;,

2l . There was a marked increase during the eighteenth century." Increase" means

a. c,otir,..| b. arts c. uj, j l l i l  d. U^S

28. A long drought is usually followed by a period of famine. " Famine" means

a. e+3i b. .,"!i- c. ,rL*-i d. ,r"l-!

29. Political conditions have generated large- scale migrations. " Political" means

a . . r - l * -  b . . uc l  " : " 1  C .6g . l t  .  : ; l  d . . , , t + lA
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30. Capital includes three elements: land, labor, and money, "Capital" means

a. ,lr. l r", i b. ,F c. ; j* d ' q L r *

1. A national census is a matter of considerable organizatron and substantial cost and many

countries simply do not have the means or the resources to carry out a complete census.

2. The underdeveloped countries that are not industrialize have insufficient agricultural systems,

low gross national products, high illiteracy rates and very high rates of population growth .

3. In the United Kingdom in 1985, the crude birthrate was 13 and the crude death rate was 12,

producing a rate of natural increase ofjust 0.1 percent.

2tr. trt may not be skills but rather the cheapness of labor that will attract some industries. In the

United States. there are areas in which wages are lower than they are elsewhere.

5. We now pay our attention to settlements, which are grouped, organized clusters of houses.

These clusters may consist of only a few units called hamlets, or they can be as large as

nretropoli tan cit ies.
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